
d)	 Draw a diagram to help you work out the answer to 4
5

 ÷ 3

	

2 	 Complete the divisions using the diagrams to help you.

a)	 1
3

 ÷ 2 = 	

b)	 1
3

 ÷ 3 = 	

c)	 2
3

 ÷ 3 = 	

3 	 3
4

 of a kilogram of rice is divided equally between two bowls.

How much rice is in each bowl?

�

Divide fractions by integers (2)

1 	

a)	 Write two things that are the same about the calculations.

b)	 Write one thing that is different about the calculations.

c)	 Draw a diagram to help you work out the answer to 4
5

 ÷ 2
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Rice

4
5

 ÷ 2     
4
5

 ÷ 3
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